



# Asymptotic behavior of solutions of forced fractional differential equations

*Dedicated to Professor Tibor Krisztin on the occasion of his 60th birthday*

Said R. Grace<sup>1</sup>, John R. Graef<sup>✉2</sup> and Ercan Tunç<sup>3</sup>

<sup>1</sup>Department of Engineering Mathematics, Faculty of Engineering, Cairo University  
Orman, Giza 12613, Egypt

<sup>2</sup>Department of Mathematics, University of Tennessee at Chattanooga, Chattanooga, TN 37403, USA

<sup>3</sup>Department of Mathematics, Faculty of Arts and Sciences, Gaziosmanpasa University  
60240, Tokat, Turkey

Received 10 May 2016, appeared 12 September 2016

Communicated by Jeff R. L. Webb

**Abstract.** The authors study the boundedness of nonoscillatory solutions of forced fractional differential equations of the form

$${}^C D_c^\alpha y(t) = e(t) + f(t, x(t)), \quad c > 1, \quad \alpha \in (0, 1),$$

where  $y(t) = (a(t)x'(t))'$ ,  $c_0 = \frac{y(c)}{\Gamma(1)} = y(c)$ , and  $c_0$  is a real constant. The technique used in obtaining their results will apply to related fractional differential equations with Caputo derivatives of any order. Examples illustrate the results obtained in this paper.

**Keywords:** integro-differential equations, fractional differential equations, asymptotic behavior, nonoscillatory solutions.

**2010 Mathematics Subject Classification:** 34A08, 34C11, 34C15.

## 1 Introduction

We consider the forced fractional differential equation

$${}^C D_c^\alpha y(t) = e(t) + f(t, x(t)), \quad c > 1, \quad \alpha \in (0, 1), \quad (1.1)$$

where  $y(t) = (a(t)x'(t))'$ ,  $c_0 = \frac{y(c)}{\Gamma(1)} = y(c)$ ,  $c_0$  is a real constant, and  ${}^C D_c^\alpha u(t)$  is the Caputo derivative of order  $\alpha$ , which is defined as

$${}^C D_a^\alpha u(t) := \frac{1}{\Gamma(n - \alpha)} \int_a^t (t - s)^{n - \alpha - 1} u^{(n)}(s) ds \quad (1.2)$$

with  $n = \lceil \alpha \rceil$  is the smallest integer greater than or equal to  $\alpha$ .

In the remainder of the paper we assume that:

---

<sup>✉</sup>Corresponding author. Email: John-Graef@utc.edu

- (i)  $a : [c, \infty) \rightarrow \mathbb{R}^+ = (0, \infty)$  is a continuous function;
- (ii)  $e : [c, \infty) \rightarrow \mathbb{R}$  is a continuous function;
- (iii)  $f : [c, \infty) \times \mathbb{R} \rightarrow \mathbb{R}$  is continuous and there exist a continuous function  $h : [c, \infty) \rightarrow (0, \infty)$  and a real number  $\lambda$  with  $0 < \lambda < 1$  such that

$$0 \leq xf(t, x) \leq h(t) |x|^{\lambda+1} \quad \text{for } x \neq 0 \text{ and } t \geq c.$$

We only consider those solutions of equation (1.1) that are continuable and nontrivial in any neighborhood of  $\infty$ . Such a solution is said to be *oscillatory* if there exists an increasing sequence  $\{t_n\} \subseteq [c, \infty)$  with  $t_n \rightarrow \infty$  as  $n \rightarrow \infty$  such that  $x(t_n) = 0$ , and it is *nonoscillatory* otherwise.

Fractional differential and integro-differential equations are receiving considerably more attention in the last twenty years due to their importance in applications in many areas of science and engineering such as in modeling systems and processes in physics, mechanics, chemistry, aerodynamics, and the electrodynamics of complex media. In this regard we refer the reader to the monographs [1, 13, 14, 18–21].

Results on the oscillatory and asymptotic behavior of solutions of fractional and integro-differential equations are relatively scarce in the literature; some results can be found, for example, in [2, 7, 8, 10, 11, 16] and the references contained therein. Currently there does not appear to be any such results for forced fractional differential equations of the type (1.1) other than those in [9]. We are particularly interested in obtaining results that guarantee the boundedness of all nonoscillatory solutions of equation (1.1).

Equation (1.1) is equivalent to the nonlinear Volterra type integral equation

$$y(t) = c_0 + \frac{1}{\Gamma(\alpha)} \int_c^t (t-s)^{\alpha-1} [e(s) + f(s, x(s))] ds, \quad c > 1, \quad \alpha > 0, \quad (1.3)$$

provided the right hand side of equation (1.1), namely  $e(t) + f(t, x)$ , belongs to the class of absolutely continuous functions  $AC$ , and  $y(t)$  in (1.3) belongs to the class  $AC^2 = \{y \in C^1 : y' \in AC\}$  (see Theorems 2.4 (iii) and 2.7 in [15]). In obtaining our results, we introduce a technique that can be applied to some related fractional differential equations involving Caputo fractional derivatives of any order. Recall that

$${}^c D_a^\alpha x(t) := \frac{1}{\Gamma(n-\alpha)} \int_a^t (t-s)^{n-\alpha-1} x^{(n)}(s) ds$$

is the Caputo derivative of the order  $\alpha \in (n-1, n)$  of a  $C^n$ -scalar valued function  $x(t)$  defined on the interval  $[c, \infty)$ , where  $x^{(n)}(t) = \frac{d^n x(t)}{dt^n}$ . For  $\alpha \in (0, 1)$ , this definition was given by Caputo [4]; for the definition of the Caputo derivative of order  $\alpha \in (n-1, n)$ ,  $n \geq 1$ , see [1, 5, 6].

## 2 Main results

In what follows  $\Gamma(x)$  is the usual Gamma function given by

$$\Gamma(x) = \int_0^\infty s^{x-1} e^{-s} ds, \quad x > 0.$$

The next two lemmas will be used to prove our main results.

**Lemma 2.1.** ([3,17]) Let  $\alpha$  and  $p$  be positive constants such that

$$p(\alpha - 1) + 1 > 0.$$

Then

$$\int_0^t (t-s)^{p(\alpha-1)} e^{ps} ds \leq Qe^{pt}, \quad t \geq 0.$$

where

$$Q = \frac{\Gamma(1 + p(\alpha - 1))}{p^{1+p(\alpha-1)}}.$$

**Lemma 2.2** ([12]). If  $X$  and  $Y$  are nonnegative and  $0 < \lambda < 1$ , then

$$X^\lambda - (1 - \lambda)Y^\lambda - \lambda XY^{\lambda-1} \leq 0, \quad (2.1)$$

where equality holds if and only if  $X = Y$ .

We begin with a result that gives sufficient conditions for every nonoscillatory solution  $x$  of equation (1.1) to be bounded.

**Theorem 2.3.** Let conditions (i)–(iii) hold and assume that there exist real numbers  $p > 1$  and  $0 < \alpha < 1$  such that  $p(\alpha - 1) + 1 > 0$ , there are numbers  $S > 0$  and  $\sigma > 1$  such that

$$\left( \frac{t}{a(t)} \right) \leq Se^{-\sigma t}, \quad (2.2)$$

and there exists a continuous function  $m : [c, \infty) \rightarrow (0, \infty)$  such that

$$\int_c^\infty e^{-qs} m^q(s) ds < \infty, \quad \text{where } q = \frac{p}{p-1}. \quad (2.3)$$

If

$$\limsup_{t \rightarrow \infty} \frac{1}{t} \int_c^t (t-s)^\alpha e(s) ds < \infty, \quad \liminf_{t \rightarrow \infty} \frac{1}{t} \int_c^t (t-s)^\alpha e(s) ds > -\infty, \quad (2.4)$$

and

$$\lim_{t \rightarrow \infty} \frac{1}{t} \int_c^t \int_{t_1}^u (u-s)^{\alpha-1} \left( m^{\lambda/(\lambda-1)}(s) h^{1/(1-\lambda)}(s) \right) ds du < \infty, \quad (2.5)$$

then any nonoscillatory solution  $x(t)$  of equation (1.1) is bounded.

*Proof.* Let  $x(t)$  be a nonoscillatory solution of (1.1), say  $x(t) > 0$  for  $t \geq t_1$  for some  $t_1 \geq c$ . If we let  $F(t) = f(t, x(t))$ , and use (i)–(iii), we see that equation (1.1) can be written as

$$\begin{aligned} (a(t)x'(t))' &\leq c_0 + \frac{1}{\Gamma(\alpha)} \int_c^{t_1} (t-s)^{\alpha-1} |F(s)| ds + \frac{1}{\Gamma(\alpha)} \int_c^{t_1} (t-s)^{\alpha-1} |e(s)| ds \\ &\quad + \frac{1}{\Gamma(\alpha)} \int_{t_1}^t (t-s)^{\alpha-1} e(s) ds + \frac{1}{\Gamma(\alpha)} \int_{t_1}^t (t-s)^{\alpha-1} m(s)x(s) ds \\ &\quad + \frac{1}{\Gamma(\alpha)} \int_{t_1}^t (t-s)^{\alpha-1} \left[ h(s)x^\lambda(s) - m(s)x(s) \right] ds. \end{aligned} \quad (2.6)$$

Using the fact that  $(t-s)^{\alpha-1} \leq (t_1-s)^{\alpha-1}$  in the first and second integrals in (2.6), we obtain

$$\begin{aligned}
(a(t)x'(t))' &\leq c_0 + \frac{1}{\Gamma(\alpha)} \int_c^{t_1} (t_1-s)^{\alpha-1} |F(s)| ds + \frac{1}{\Gamma(\alpha)} \int_c^{t_1} (t_1-s)^{\alpha-1} |e(s)| ds \\
&\quad + \frac{1}{\Gamma(\alpha)} \int_{t_1}^t (t-s)^{\alpha-1} e(s) ds + \frac{1}{\Gamma(\alpha)} \int_{t_1}^t (t-s)^{\alpha-1} m(s)x(s) ds \\
&\quad + \frac{1}{\Gamma(\alpha)} \int_{t_1}^t (t-s)^{\alpha-1} [h(s)x^\lambda(s) - m(s)x(s)] ds \\
&\leq c_1 + \frac{1}{\Gamma(\alpha)} \int_{t_1}^t (t-s)^{\alpha-1} e(s) ds + \frac{1}{\Gamma(\alpha)} \int_{t_1}^t (t-s)^{\alpha-1} m(s)x(s) ds \\
&\quad + \frac{1}{\Gamma(\alpha)} \int_{t_1}^t (t-s)^{\alpha-1} [h(s)x^\lambda(s) - m(s)x(s)] ds, \tag{2.7}
\end{aligned}$$

where

$$c_1 = c_0 + \frac{1}{\Gamma(\alpha)} \int_c^{t_1} (t_1-s)^{\alpha-1} |F(s)| ds + \frac{1}{\Gamma(\alpha)} \int_c^{t_1} (t_1-s)^{\alpha-1} |e(s)| ds.$$

Applying Lemma 2.2 with

$$X = h^{1/\lambda}(s)x(s) \quad \text{and} \quad Y = \left( \frac{1}{\lambda} m(s) h^{-1/\lambda}(s) \right)^{1/(\lambda-1)},$$

we obtain

$$h(s)x^\lambda(s) - m(s)x(s) \leq (1-\lambda)\lambda^{\lambda/(1-\lambda)} m^{\lambda/(\lambda-1)}(s) h^{1/(1-\lambda)}(s),$$

and substituting this into (2.7), we have

$$\begin{aligned}
(a(t)x'(t))' &\leq c_1 + \frac{1}{\Gamma(\alpha)} \int_{t_1}^t (t-s)^{\alpha-1} e(s) ds \\
&\quad + \frac{\left( (1-\lambda)\lambda^{\lambda/(1-\lambda)} \right)}{\Gamma(\alpha)} \int_{t_1}^t (t-s)^{\alpha-1} \left[ m^{\lambda/(\lambda-1)}(s) h^{1/(1-\lambda)}(s) \right] ds \\
&\quad + \frac{1}{\Gamma(\alpha)} \int_{t_1}^t (t-s)^{\alpha-1} m(s)x(s) ds. \tag{2.8}
\end{aligned}$$

An integration of (2.8) from  $t_1$  to  $t$  yields

$$\begin{aligned}
a(t)x'(t) &\leq a(t_1)x'(t_1) + c_1(t-t_1) + \frac{1}{\Gamma(\alpha)} \int_{t_1}^t \int_{t_1}^u (u-s)^{\alpha-1} e(s) ds du \\
&\quad + \int_{t_1}^t \int_{t_1}^u (u-s)^{\alpha-1} \left( m^{\lambda/(\lambda-1)}(s) h^{1/(1-\lambda)}(s) \right) ds du \\
&\quad + \frac{1}{\Gamma(\alpha)} \int_{t_1}^t \int_{t_1}^u (u-s)^{\alpha-1} m(s)x(s) ds du \\
&= a(t_1)x'(t_1) + c_1(t-t_1) + \int_{t_1}^t \int_{t_1}^u (u-s)^{\alpha-1} \left( m^{\lambda/(\lambda-1)}(s) h^{1/(1-\lambda)}(s) \right) ds du \\
&\quad + \frac{1}{\Gamma(\alpha+1)} \int_{t_1}^t (t-s)^\alpha e(s) ds + \frac{1}{\Gamma(\alpha+1)} \int_{t_1}^t (t-s)^\alpha m(s)x(s) ds \\
&\leq a(t_1)x'(t_1) + c_1(t-t_1) + \int_{t_1}^t \int_{t_1}^u (u-s)^{\alpha-1} \left( m^{\lambda/(\lambda-1)}(s) h^{1/(1-\lambda)}(s) \right) ds du \\
&\quad + \frac{1}{\Gamma(\alpha+1)} \int_{t_1}^t (t-s)^\alpha e(s) ds + \frac{t}{\Gamma(\alpha+1)} \int_{t_1}^t (t-s)^{\alpha-1} m(s)x(s) ds.
\end{aligned}$$

In view of (2.4) and (2.5), the last inequality implies

$$a(t)x'(t) \leq c_2 + c_3t + \frac{t}{\Gamma(\alpha + 1)} \int_{t_1}^t (t-s)^{\alpha-1} m(s)x(s)ds, \quad (2.9)$$

for some positive constants  $c_2$  and  $c_3$ .

Integrating (2.9) from  $t_1$  to  $t$  and noting condition (2.2), we see that

$$\begin{aligned} x(t) &\leq x(t_1) + c_2 \int_{t_1}^t \frac{1}{a(s)} ds + c_3 \int_{t_1}^t \frac{s}{a(s)} ds + \frac{1}{\Gamma(\alpha + 1)} \int_{t_1}^t \frac{u}{a(u)} \int_{t_1}^u (u-s)^{\alpha-1} m(s)x(s)dsdu \\ &\leq c_4 + \frac{1}{\Gamma(\alpha + 1)} \int_{t_1}^t \frac{u}{a(u)} \int_{t_1}^u (u-s)^{\alpha-1} m(s)x(s)dsdu \end{aligned} \quad (2.10)$$

for some constant  $c_4 > 0$ .

Applying Hölder's inequality and Lemma 2.1, we obtain

$$\begin{aligned} &\int_{t_1}^u ((u-s)^{\alpha-1} e^s) (e^{-s} m(s)x(s)) ds \\ &\leq \left( \int_{t_1}^u (u-s)^{p(\alpha-1)} e^{ps} ds \right)^{1/p} \left( \int_{t_1}^u e^{-qs} m^q(s) x^q(s) ds \right)^{1/q} \\ &\leq \left( \int_0^u (u-s)^{p(\alpha-1)} e^{ps} ds \right)^{1/p} \left( \int_{t_1}^u e^{-qs} m^q(s) x^q(s) ds \right)^{1/q} \\ &\leq (Qe^{pu})^{1/p} \left( \int_{t_1}^u e^{-qs} m^q(s) x^q(s) ds \right)^{1/q} \\ &= Q^{1/p} e^u \left( \int_{t_1}^u e^{-qs} m^q(s) x^q(s) ds \right)^{1/q}. \end{aligned} \quad (2.11)$$

From (2.2), (2.10), and (2.11),

$$\begin{aligned} x(t) &\leq c_4 + \frac{Q^{1/p}}{\Gamma(\alpha + 1)} \int_{t_1}^t \frac{ue^u}{a(u)} \left( \int_{t_1}^u e^{-qs} m^q(s) x^q(s) ds \right)^{1/q} du \\ &\leq c_4 + \frac{Q^{1/p} S}{\Gamma(\alpha + 1)} \int_{t_1}^t e^{-(\sigma-1)u} \left( \int_{t_1}^u e^{-qs} m^q(s) x^q(s) ds \right)^{1/q} du. \end{aligned} \quad (2.12)$$

Since  $\sigma > 1$  and the integral on the far right in (2.12) is increasing, we obtain the estimate

$$x(t) \leq 1 + c_4 + K \left( \int_{t_1}^t e^{-qs} m^q(s) x^q(s) ds \right)^{1/q}, \quad (2.13)$$

where  $K = \frac{Q^{1/p} S}{(\sigma-1)\Gamma(\alpha+1)}$ .

Applying the inequality

$$(x+y)^q \leq 2^{q-1}(x^q + y^q) \quad \text{for } x, y \geq 0 \text{ and } q > 1,$$

to (2.13) gives

$$x^q(t) \leq 2^{q-1}(1+c_4)^q + 2^{q-1}K^q \left( \int_{t_1}^t e^{-qs} m^q(s) x^q(s) ds \right). \quad (2.14)$$

Setting  $P_1 = 2^{q-1}(1+c_4)^q$ ,  $Q_1 = 2^{q-1}K^q$ , and  $w(t) = x^q(t)$  so that  $x(t) = w^{1/q}(t)$ , (2.14) becomes

$$w(t) \leq P_1 + Q_1 \left( \int_{t_1}^t e^{-qs} m^q(s) w(s) ds \right)$$

for  $t \geq t_1$ . By Gronwall's inequality and condition (2.3), we see that  $w(t)$  is bounded, and so  $x(t)$  is bounded. Clearly, a similar argument holds if  $x(t)$  is an eventually negative solution of (1.1). This completes the proof of the theorem.  $\square$

Next, we consider the fractional differential equation

$${}^C D_c^\alpha y(t) = e(t) + f(t, x(t)), \quad c > 1, \quad \alpha \in (0, 1), \quad (2.15)$$

where  $y(t) = a(t)x'(t)$  and  $c_0 = \frac{y(c)}{\Gamma(1)} = y(c)$  is a real constant. We now give sufficient conditions under which any nonoscillatory solution  $x$  of equation (2.15) is bounded.

**Theorem 2.4.** *Let conditions (i)–(iii) hold and suppose that there exist real numbers  $p > 1$  and  $0 < \alpha < 1$  such that  $p(\alpha - 1) + 1 > 0$ . In addition, assume that there exists a continuous function  $m : [c, \infty) \rightarrow (0, \infty)$  such that (2.3) holds and*

$$\left( \frac{1}{a(t)} \right) \leq S e^{-\sigma t} \quad (2.16)$$

for some  $S > 0$  and  $\sigma > 1$ . If

$$\limsup_{t \rightarrow \infty} \int_c^t (t-s)^{\alpha-1} e(s) ds < \infty, \quad \liminf_{t \rightarrow \infty} \int_c^t (t-s)^{\alpha-1} e(s) ds > -\infty, \quad (2.17)$$

and

$$\limsup_{t \rightarrow \infty} \int_c^t (t-s)^{\alpha-1} \left( m^{\lambda/(\lambda-1)}(s) h^{1/(1-\lambda)}(s) \right) ds < \infty, \quad (2.18)$$

then any nonoscillatory solution  $x(t)$  of equation (2.15) is bounded.

*Proof.* Let  $x(t)$  be an eventually positive solution of equation (2.15). We may assume that  $x(t) > 0$  for  $t \geq t_1$  for some  $t_1 \geq c$ . Again let  $F(t) = f(t, x(t))$ . In view of (i)–(iii), equation (2.15) can be written as

$$\begin{aligned} a(t)x'(t) &\leq c_0 + \frac{1}{\Gamma(\alpha)} \int_c^{t_1} (t-s)^{\alpha-1} |F(s)| ds + \frac{1}{\Gamma(\alpha)} \int_c^{t_1} (t-s)^{\alpha-1} |e(s)| ds \\ &\quad + \frac{1}{\Gamma(\alpha)} \int_{t_1}^t (t-s)^{\alpha-1} e(s) ds + \frac{1}{\Gamma(\alpha)} \int_{t_1}^t (t-s)^{\alpha-1} m(s)x(s) ds \\ &\quad + \frac{1}{\Gamma(\alpha)} \int_{t_1}^t (t-s)^{\alpha-1} \left[ h(s)x^\lambda(s) - m(s)x(s) \right] ds. \end{aligned} \quad (2.19)$$

Proceeding as in the proof of Theorem 2.3, from (2.19) we obtain (see (2.7))

$$\begin{aligned} a(t)x'(t) &\leq c_1 + \frac{1}{\Gamma(\alpha)} \int_{t_1}^t (t-s)^{\alpha-1} e(s) ds \\ &\quad + \frac{\left( (1-\lambda)\lambda^{\lambda/(1-\lambda)} \right)}{\Gamma(\alpha)} \int_{t_1}^t (t-s)^{\alpha-1} \left[ m^{\lambda/(\lambda-1)}(s) h^{1/(1-\lambda)}(s) \right] ds \\ &\quad + \frac{1}{\Gamma(\alpha)} \int_{t_1}^t (t-s)^{\alpha-1} m(s)x(s) ds, \\ &\leq M + \frac{1}{\Gamma(\alpha)} \int_{t_1}^t (t-s)^{\alpha-1} m(s)x(s) ds, \end{aligned} \quad (2.20)$$

for some positive constant  $M$ .

An integration of (2.20) from  $t_1$  to  $t$  yields

$$x(t) \leq x(t_1) + M \int_{t_1}^t \frac{1}{a(s)} ds + \frac{1}{\Gamma(\alpha)} \int_{t_1}^t \frac{1}{a(u)} \int_{t_1}^u (u-s)^{\alpha-1} m(s)x(s) ds du.$$

The remainder of the proof is similar to that of Theorem 2.3 and hence is omitted.  $\square$

Similar reasoning to that used in the sublinear case guarantees the following theorems for the integro-differential equations (1.1) and (2.15) in case  $\lambda = 1$ .

**Theorem 2.5.** *Let  $\lambda = 1$  and the hypotheses of Theorems 2.3–2.4 hold with  $m(t) = h(t)$ . Then the conclusion of Theorems 2.3–2.4 holds.*

**Example 2.6.** Consider the equation

$$y(t) = a(t)x'(t) = c_0 + \frac{1}{\Gamma(\alpha)} \int_2^t (t-s)^{\alpha-1} \left[ e^{-2s} + h(s) |x(s)|^{\lambda-1} x(s) \right] ds, \quad (2.21)$$

with  $0 < \lambda < 1$ . Here we have  $c = 2$ ,  $e(t) = e^{-2t}$ ,  $f(t, x(t)) = h(t) |x(t)|^{\lambda-1} x(t)$ , and we take  $a(t) = e^{2t}/S$  with  $S > 0$ ,  $h(t) = e^{-t}$ ,  $\alpha = 1/2$ , and  $p = 3/2 > 1$ . Then  $q = \frac{p}{p-1} = 3$  and  $p(\alpha - 1) + 1 = 1/4 > 0$ . With  $\sigma = 2$  and  $h(t) = m(t)$ , conditions (2.16) and (2.3) become

$$\frac{1}{a(t)} = \frac{1}{\frac{e^{2t}}{S}} = \frac{S}{e^{2t}} \leq S e^{-2t}$$

and

$$\int_c^\infty e^{-qs} m^q(s) ds = \int_2^\infty e^{-3s} e^{-3s} ds \leq \frac{1}{6} < \infty,$$

and so conditions (2.16) and (2.3) hold, respectively. With  $h(t) = m(t)$ , we have

$$\int_c^t (t-s)^{\alpha-1} \left( m^{\lambda/(\lambda-1)}(s) h^{1/(1-\lambda)}(s) \right) ds = \int_2^t (t-s)^{\alpha-1} m(s) ds = \int_2^t (t-s)^{-1/2} e^{-s} ds. \quad (2.22)$$

Letting  $u = t - s + 2$  in (2.22), we obtain

$$\begin{aligned} \int_2^t (t-s)^{-1/2} e^{-s} ds &= - \int_t^2 (u-2)^{-1/2} e^{u-t-2} du \\ &= \frac{1}{e^{t+2}} \int_2^t (u-2)^{-1/2} e^u du \\ &= \frac{1}{e^{t+2}} \left[ \int_2^4 (u-2)^{-1/2} e^u du + \int_4^t (u-2)^{-1/2} e^u du \right] \\ &= \frac{1}{e^{t+2}} \left[ \lim_{b \rightarrow 2^+} \int_b^4 (u-2)^{-1/2} e^u du \right] + \frac{1}{e^{t+2}} \left[ \int_4^t (u-2)^{-1/2} e^u du \right] \\ &= \frac{1}{e^{t+2}} \lim_{b \rightarrow 2^+} e^4 \int_b^4 (u-2)^{-1/2} du + \frac{(4-2)^{-1/2}}{e^{t+2}} \int_4^t e^u du \\ &= \frac{2^{3/2} e^4}{e^{t+2}} + \frac{1}{\sqrt{2} e^{t+2}} (e^t - e^4), \end{aligned}$$

so (2.18) holds. Finally,

$$\begin{aligned} \int_c^t (t-s)^{\alpha-1} e(s) ds &= \int_2^t (t-s)^{-1/2} e^{-2s} ds \\ &= - \int_t^2 (u-2)^{-1/2} e^{-2(t-u+2)} du \\ &= \frac{1}{e^{2t+4}} \int_2^t (u-2)^{-1/2} e^{2u} ds \\ &< \infty, \end{aligned}$$

so condition (2.17) is satisfied. Hence, by Theorem 2.4, every nonoscillatory solution  $x$  of equation (2.21) is bounded.

**Example 2.7.** Consider the equation

$$y(t) = (a(t)x'(t))' = c_0 + \frac{1}{\Gamma(\alpha)} \int_2^t (t-s)^{\alpha-1} \left[ \frac{1}{s^2} + h(s) |x(s)|^{\lambda-1} x(s) \right] ds, \quad (2.23)$$

with  $0 < \lambda < 1$ . Here we have  $c = 2$ ,  $e(t) = 1/t^2$ ,  $f(t, x(t)) = h(t) |x(t)|^{\lambda-1} x(t)$ , and we take  $a(t) = te^{2t}/S$  with  $S > 0$ ,  $h(t) = e^{-t}$ ,  $\alpha = 1/2$ , and  $p = 3/2 > 1$ . Then  $q = \frac{p}{p-1} = 3$  and  $p(\alpha - 1) + 1 = 1/4 > 0$ . With  $\sigma = 2$  and  $h(t) = m(t)$ , conditions (2.2) and (2.3) become

$$\frac{t}{a(t)} = \frac{t}{\frac{te^{2t}}{S}} = \frac{S}{e^{2t}} \leq Se^{-2t}$$

and

$$\int_c^\infty e^{-qs} m^q(s) ds = \int_2^\infty e^{-3s} e^{-3s} ds \leq \frac{1}{6} < \infty,$$

and so conditions (2.2) and (2.3) hold. From Example 2.1, we see that

$$\int_c^t (t-s)^{\alpha-1} \left( m^{\lambda/(\lambda-1)}(s) h^{1/(1-\lambda)}(s) \right) ds < 2^{3/2} e^2 + \frac{1}{\sqrt{2}} < \infty,$$

so clearly condition (2.5) holds.

Finally,

$$\begin{aligned} \frac{1}{t} \int_c^t (t-s)^\alpha e(s) ds &= \frac{1}{t} \int_2^t (t-s)^{1/2} \frac{1}{s^2} ds \\ &\leq \frac{(t-2)^{1/2}}{t} \int_2^t \frac{1}{s^2} ds \\ &\leq -\frac{1}{t^{3/2}} + \frac{1}{2t^{1/2}} < \infty, \end{aligned}$$

so condition (2.4) is satisfied. Hence, by Theorem 2.3, every nonoscillatory solution  $x$  of equation (2.23) is bounded.

In conclusion, we wish to point out that the results in this paper are presented in a form that can be extended to fractional differential equations of the type (1.1) of order  $\alpha \in (n-1, n)$ ,  $n \geq 1$ . It would also be of interest to study equation (1.1) in case  $f$  satisfies condition (iii) with  $\lambda > 1$ .



## References

- [1] D. BALEANU, J. A. T. MACHADO, A. C. J. LUO (Eds.), *Fractional dynamics and control*, Springer, 2012. [MR2905887](#); [url](#)
- [2] M. BOHNER, S. R. GRACE, N. SULTANA, Asymptotic behavior of nonoscillatory solutions of higher-order integro-dynamic equations, *Opuscula Math.* **34**(2014), 5–14. [MR3162797](#); [url](#)
- [3] E. BRESTOVANSKA, M. MEDVEĎ, Asymptotic behavior of solutions to second-order differential equations with fractional derivative perturbations, *Electronic J. Differ. Equ.* **2014**, No. 201, 1–10. [MR3273084](#)
- [4] M. CAPUTO, Linear models of dissipation whose  $Q$  is almost frequency independent II, *Geophys. J. Royal Astronom. Soc.* **13**(1967), 529–535. [url](#)
- [5] K. DIETHELM, *The analysis of fractional differential equations*, Springer, Berlin, 2010. [MR2680847](#); [url](#)
- [6] K. M. FURATI, N.-E. TATAR, Power-type estimates for a nonlinear fractional differential equations, *Nonlinear Anal.* **62**(2005), 1025–1036. [MR2152995](#); [url](#)
- [7] S. R. GRACE, R. P. AGARWAL, P. J. Y WONG, A. ZAFER, On the oscillation of fractional differential equations, *Fract. Calc. Appl. Anal.* **15**(2012), 222–231. [MR2897775](#); [url](#)
- [8] S. R. GRACE, J. R. GRAEF, S. PANIGRAHI, E. TUNÇ, On the oscillatory behavior of Volterra integral equations on time-scales, *Panamer. Math. J.* **23**(2013), 35–41. [MR3137232](#)
- [9] S. R. GRACE, J. R. GRAEF, E. TUNÇ, On the asymptotic behavior of solutions of certain forced fractional differential equations, to appear.
- [10] S. R. GRACE, J. R. GRAEF, A. ZAFER, Oscillation of integro-dynamic equations on time scales, *Appl. Math. Lett.* **26**(2013), 383–386.
- [11] S. R. GRACE, A. ZAFER, Oscillatory behavior of integro-dynamic and integral equations on time scales, *Appl. Math. Lett.* **28**(2014), 47–52. [MR3128646](#); [url](#)
- [12] G. H. HARDY, J. E. LITTLEWOOD, G. PÓLYA, *Inequalities*, Reprint of the 1952 edition, Cambridge University Press, Cambridge, 1988. [MR944909](#)
- [13] A. A. KILBAS, H. M. SRIVASTAVA, J. T. TRUJILLO, *Theory and applications of fractional differential equations*, North-Holland Mathematics Studies, Vol. 204, Elsevier, Amsterdam, 2006. [MR2218073](#)
- [14] V. LAKSHMIKANTHAM, S. LEELA, J. VAAUNDHARA DEVI, *Theory of fractional dynamic systems*, Cambridge, 2009.
- [15] K. Q. LAN, W. LIN, Positive solutions of systems of Caputo fractional differential equations, *Commun. Appl. Anal.* **17**(2013), 61–85. [MR3075769](#)
- [16] Q.-H. MA, J. PEČARIĆ, J.-M. ZHANG, Integral inequalities of systems and the estimate for solutions of certain nonlinear two-dimensional fractional differential systems, *Comput. Math. Appl.* **61**(2011), 3258–3267. [MR2801991](#); [url](#)

- [17] M. MEDVEĎ, A new approach to an analysis of Henry type integral inequalities and their Bihari type versions, *J. Math. Anal. Appl.* **214** (1997), 349–366. [MR1475574](#); [url](#)
- [18] K. S. MILLER, B. ROSS, *An introduction to the fractional calculus and fractional differential equations*, John Wiley, New York, 1993. [MR1219954](#)
- [19] I. PODLUBNY, *Fractional differential equations*, Mathematics in Science and Engineering, Vol. 198, Academic Press, San Diego, 1999. [MR1658022](#); [url](#)
- [20] A. P. PRUDNIKOV, ZU. A. BRYCHKOV, O. I. MARICHEV, *Integral and series. Elementary functions*, Vol. 1, (in Russian), Nauka, Moscow, 1981. [MR635931](#)
- [21] S. G. SAMKO, A. A. KILBAS, O. I. MARICHEV, *Fractional integrals and derivatives. Theory and applications*, Gordon and Breach Science Publishers, New York, 1993. [MR1347689](#)